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The figures in the margin indicate full marks for the questions

ALLOTWENT OF MARKS

PART—A [ frmin—n
Q. No. 1f a-f| carries | mark each
Q. No. 2( a-f | carries 2 marks each
Q. Nos. 3=7 carry 4 marks each
Q. Nos. 8 & 9 carry 6 marks each

PART—B /[ fram—y
Q. No. 10{ a—f ) carries ! mark each
Q. No. 11f a=f ) carries 2 marks each
Q. Nos. 12-16 carry 4 marks each
Q. Nos. 17 & 18 carry 6 marks each

Tatal (PART—A & PART—B)|

/126

l<h = 6
226 =12
425 =20
622 = 12
Total = 50

l1#6= &
2up =12
4x5=20
6x2=12
Total = 50
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PRRT—A
frgin—n

Ilnm‘ pr J“‘ 4 j

L. Answer the following as directed : L

fal Define the term ‘scarcity’.

TS ) o

fb) Opportunity cost is also known as ___ cost.
(Fill in the blank)

W AN R s W
{4 212 oA =)

fc/ What is budget line?
AED (A 7
(d} Define variable cost.

i T Ao )

fe} TC = + TFC.
(Fill in the blank)

(R B o )
{fl Why is the AC curve U’ shaped?
AC cowsm B ‘U wRe m
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Answer the following questions - 2x6=12
T P YR fo

fa) Distinguish between microeconomics and macro-
econamics,

mwﬁ‘rmmﬁrﬁmm-nwﬁ'nl
Or / 5w

What are the centra) problems of an economy?
W T R T B 0

fmwm:mﬁ®Mmmeuﬁmmmmdmmm

2
Mmﬁmﬁ#n«mmnmm.
Or / =3

What is inferior good? Give one example,

141=2
o0 w0 B2 o o iy

{c) Define the following 1+1=2
e R e f

{i) Total product
T e

(i) Marginal product
i T
Or / g
Briefly cxplain the concepts of short run and long run.

1+1=3
T AT Enfalv—a €A TR e T |



(4)

ariuble cost. 2
fd) Distinguish between fixed cost &74 ¥

o T s st e e e P

or / W

run average
Draw u long-run marginul cost curve and long L+1=3
cost curve,

e wprap——— e L T b

e) What is the relationship between AR and MR?
TE W W onfs s w7

Or / &%

Prove that for a firm, price = average revenue.
2 0 o g SRR A, =S

() Write two factors that affect the market supply of a
commodity. 2

B o T R R o i R fovn )
Or / wedy

If the percentage change in quantity supplied is 10 and
zmn;tm: change in price is 4, calculate price elasticity of
pply.

LR R R ep—,
i e “faads 10
, O s i e | e
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3¢ Explain the law

of diminishi n i y
help of schedyle iminishing marginal utility with the

; and diagram, 4
S 1 B v gy SR ST R zwm a1

Or / 547

:_:‘C‘ﬁﬂc price elalaticity of demand. Mention any three
it ,m""‘mnﬂ price elasticity of demand of a
commodity,

1+3=4
m“ﬁmmn*wﬁn:wﬁnmﬂfﬂﬁ?w
ﬁﬂtwﬁﬁmﬁﬁhmmm'

What is meant by returns to a factor? State the three
phases of the law of variable proportions. 1+3=4

R 4 ofor e @ T ofdesin spre ARA W RED
BEy

Or /=5

From the data given below, calculate fa) marginal cost and
{b) average cost : 2+2=4

w1 o AR 1 (o) 2l T A (B) 6 T N

%:pm i_1‘2,314~5 5|?|sl

Total cost (7) 1u'20|2&‘34'33-42-4s"56"
| 1 L S

¥ ()

Menltion four features of perfect competition. 4

o semieTae TER SR il B
Or / W

Distinguish between monopoly market and monopolistic
market.

<HEE T T i Sl T A e
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\/ﬁf " Distinguish between price ceiling and price floor: 3
T 5 B = o S e o e |
Or f &%
Mention the effects of the following on the supply ‘ﬂz?z—q
commadity ;

fa) Fall in the price of factors

fb) Rise in the per unit tax

% A TR €vfs T e SR HER SR L
a) S=rmz e gm

(b} ot aw we

How does imposition of per unit tax affect supply curve of
a firm? q

AT WA S O (N (T e A 7
Or/ =4
The demand and supply functions of a firm under
perfectly competitive market are given below :
D=5-2p
S=-35+3P

Where, P=Price, D=Quantity Demanded and
S = Quantity Supplied.

Find the equilibrium price and quantity. 2-2=4
o dferfirenEs wom oftm o hE S% v weR T B
Lik: H

D=5-2pP

5=-25+3P

%, P =W, D =7o0H 0 9 S - ARER o |



